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Woad Problenes

WWhen the birthday cake was about to ba servead,
you werse tokd you could have 0.6, 60%, 375, §%.
Whech 3 will grve you the same saze portion?

47 of the birthday cake was aaben on your
bEarthday. Tha next day your dad ate 172 of what
:ﬁ;le&. You g2t to finish the cake, how much s

Thea grocery store parking lot that will holdd 1000
vehicles., 2/5 of the parking spaces are for cars.
Whan you went o buy groceneas, there wars 200
cars and some trucks i the parkeng lot. The pars-
mg kot was 374 full. How many trecks were in it?

Justin 15 making snowballs to bunld a fort on the
wimnbter braak, Justin can budd 15 snowballs in an
hour but 2 snowballs melt every 15 minutes. How
long wall it take him to busld 210 snowballs?

The recipe for mmt chocolate ice cream regqueres 2
1/4 cups of cream for 5 pecpls. You nesd ice cream
for 8 people. How much cream willl you nead?
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